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— Xot=ofe & N2 A
50,000,000& *1.08/100 540
402 QI2v X2 0| & 90,000 85,000 5,000
01 812t X 90,000 85,000 5,000
OAHEX EAHH XA 20,000,000& 20,000
OsZE 54 NSz (g
1,000, 000& =700+ 70,000
SHO0IEXME XFAS(EHAHR) 108,000 0 108,000
= 43,200
& 12,960
= 51,840
403 XX SHHS K20 & 108,000 0 108,000
= 43,200
= 12,960
= 51,840
02 BI2S0CHSHCHE AFS HI 108,000 0 108,000
O2HExZAY 108,000
— S=d0lE HelXH 2,400,000 »45= 108,000
= 43,200
= 12,960
= 51,840
ASE S&=3 Atg 60,000 0 60,000
= 24,000
= 36,000
401 Al HI L 204 HI 60,000 0 60,000
o= 24,000
= 36,000
01 Al& H| 59,460 0 59,460
OEHIEXZAY 59,460
—HEE SA=FAY 59,460,000& 59,460
< 24,000
= 35,460
03 Al 201 Y| 540 0 540
OZHIEZAY 540
—ASS SH=SAY
60,000,0002 x0.90/100 540
2S5 FE 2AZAE ALY 30,000 30,000 0
402 It X201 M 30,000 30,000 0
01 QI2t X2 X 30,000 30,000 0
OZ2SFE FOHO ANE B 30,000,000& 30,000
SHOIE XNSHE AIE 65,000 0 65,000
& 19,500
= 45,500




SN SAASO R0
Hu: =HBY HA
Sel sE FAEY N EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 RI2EX20l A 65,000 0 65,000
< 19,500
e 45,500
01 RIZEAt2E X 65,000 0 65,000
OZHIEx= AL 65,000
— 5= X NSNS
5,000,000& 13 65,000
< 19,500
s 45,500
ASIHAAHS =8 HES AL 48,000 0 48,000
403 XSS X201 & 48,000 0 48,000
02 S| 2SOl CHSHIH & A B 48,000 0 48,000
O=HIEZ ALY 48,000
— A FHAANES = HES
6,000, 000& 40 *20/100 48,000
HY2IZH (TAASCIAQIDH) 31,840 32,950 A1,110
Jl23&dl 31,840 32,950 A1,110
JlE2ztl 31,840 32,950 A1,110
201 et 13,240 13,750 A510
01 At 22l 13,240 13,750 A510
O+t 13,240,000 13,240
202 O4dl 14,400 15,000 A 600
01 = LH 4 Hi 14,400 15,000 A 600
ORMZY (A, MOIL, 228 &4 3)
4,400,000 14,400
203 YR =&l 4,200 4,200 0
04 FENSELR=LH| 4,200 4,200 0
ORN2IYS =2 4,200,000 4,200
HRES(SAIASC AL ) 10,000 10,000 0
WEHHX = 10,000 10,000 0
JISHES 10,000 10,000 0
702 )1 SEEZS 10,000 10,000 0
(O RIE=RSE= 10,000 10,000 0
O=AZ0FHIII3 853 10,000,000 10,000




